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‘hapter 7 Test Review Date_ Perlod

.. List the properties of the following figures:

a) parallelogram

* Opposite sides parallel
. Opp- Sty =
. 0Pp. LS =
. L(,mg S § Nop\e_'{Y\WW\/a,
. 0 Ly piSect 2oon Gthar

b) rectangle-properties of a paralle!ogram +

* Definition:, CB&L“'
- Adbs oS e ®

c) rhombus-properties of")a parallelogram+
. Deﬂnltmn gL_LQL& && ‘ H S h Lﬂ S

. e S
d) square

,J « All properties of a k Q!Jig!j‘&nd —L‘QIQMIQAS
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PQRS Is a rhombus, The m4STR = 52 +10 and the msTRS = 30,
X+t 10 Q

Find each of the following measures.
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Quadrilateral PQRS Is a parallelogram. PS=10, SR=7, 0S=5, OR=2, m£PQR = 60°, m£SPR = 50°, Find each of the
following measures,

) Use the diagonals to determine if the p g or square,

(-4, 2) Bl2,4) C(4,2)D(2,4)
-
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dope ot AC= ‘ﬁ-q =
Siopz of BD= —q»«
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12)PQ 13) Qs
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16) m<QPS 17) m£QRP 18)mZRPQ

15)msPSR
ccal

V\UW\'VU-S ABI‘,‘%?S a parallelogram. AC=3, AE=2, m£ACD = 108°. Find each of the following measures.
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° 7 xtl=5x%-5
19) m<BDC 20) AB 0= 8 X 21)msBAC
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23) BD 24)msABD

6) BC
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27. Prove the following quadrilateral with vertices A(-3, -3) B(1, 1) C(5, -1) and D(1, -5) is a parallelogram
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For 18-21, find the measure of the numbered angles in the figures.

mesl= 2 4° 18. ABCD is rectangle
mAZi l_-\g . A 3
ms3 = LQ &E [
mz4 = 0(g° 2 12 :
me5z _Y4® 1508 b

-— o A'2

mi6 = _u_w_o w 122 . b(a |
ms8 = 5H i D c
ms9 = 22!.2
ms10= qQo A
ms1l = 5‘-!00‘ met3= 90°
ms12=_45 mLtd = Ys®

19. RSTV is a rhombus

0. EFGH is a square

s

90

12 yg*

Use square ABCD 10 find the following,

el

| YL gt

Al = [p
ol=%

q*
Wi =~

2. m£AEB = 10x — 5, solve for x.

10X-5=q0

10X =9
3.AD=8d+2 AB=6d+12, find the perimeter.

UaxH =

4. AE=2m +5, DB = 6m + 2, find DE.

MAmtS) = LMt L
Ymtlo = %gwa

'm'-i

DE= 2(TS

-

AN ES= X3

3= 2%
X:12

- 4q

5.

"xaQ Y o
g\“—q: —N-'-f’b

RSTU is a parallelogram.

5.ST=8x+5 RU= 11x-31 SR=12x-20
Find the perimeter.
CJOH 1014124 4 114=

6. mseTSU =3y +9, msSUR =7y — 43,

) MLSXT = 6y + 9
Bt '5)16,;‘3- 52:uy m£USR = 55° solve fory, then find
=1 «
N=15 meSRU __171° m/_RUT_a_
msSTU____171°  msSXT
g
Ll3) +9

19+9:= §71
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: 7. To prove segments are congruent what formula must be used?

Distonce

8. To prove segments are parallel, what formula must be used? S\OP ]
~N
9. Slopes of parallel lines are =

10. To prove segments are perpendicular, what formula must be used? S \0 P ¢

11. Slopes of perpendicular lines are _ugp_ﬂ;&pﬂ)wds .

12. Use the diagonals to determine whether a parallelogram with the given vertices is a rectangle, rhombus or square.
Give all names that apply. Be sure to label everything.

M(-4,5) N(1,7) P(3,2) Q(-2,0)

A (TR
> (gara = 5y~

5
BN= (4 D& 0> )
= (A4 4a - \Ed

. A5 .
S\DPC me - 5—::4‘:_:?. J
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